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Instructions for Candidates

1.

Write your Roll No. on the top iinmediately on receipt of this question paper.

2. Attempt any five questions.
3. All questions carry equal marks:
4. Answers may be written either in English or in Hindi, but the same medium should
be used throughout the paper.
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1. What is a production possibility curve? How does to explain the concept of
marginal opportunity cost? (5,10)
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2. (a) Distinguish between

(i) movement along the demand curve and shift of demand curve
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(i) Movement along a supply curve and shift of a supply curve. (4,4)

(b) Do you agree or disagree with each of the following statements? Briefly

explain your answers.

() The price of a good rises, causing the demand for another good to fall.

The two goods are therefore substitutes.

(ii) The price of good A falls. This causes an increase in the demand of

good B. Goods A and B are therefore complements. (3'2,3'%)

(F) FR TR
(i)m?raa?qta%xaa 3R A a7 R &
(i) Iff o W ¥9aT 3R I o & Regam & @
(@) = s FrafaRed aader ¥ wead 27 @ ¥ SEEe

(i) af v aeg 9 a Sed 2 IR @A A WA FH AR T A A awde
gfeeaT 21

(i) TR v g B e A 2 ok T o W TR 2 A A w T F

3. (a) Prove the following on a straight line demand curve.
(i) The elasticity of demand varies from zero to infinity.

(1) Demand curves with different slopes but with common intercept on the
vertical axis (price axis) will exhibit same elasticity of demand

corresponding to any given price of the commodity. (5,5)
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(b) Fill in the missing amounts in the following table:
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% change | % change in | Elasticity
in Price Quantity
Demanded
Demand for Icecream +10% 12% -
Demand for Pepsi -20% - 0.5
Supply of Burgers +10% - +1.2
Supply of Pizzas -15% -10% -
(3)
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4.
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(a) What does budget line show? Explain its properties.

(b) Explain the shapes of indifference curves in the following cases:

(i) When one good out of the two gives zero utility.

(i) When two goods are perfect substitutes.
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(4+4)

(a) Explain the least cost method of producing a given amount of output. (7

(b) What is the effect of a change in input prices on producers equilibrium?
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6. (a) Distinguish between Law of diminishing returns to a factor and returns to
~ scale. _ ' )

(b) The following table gives capital and labour requirements for 10 dlfferent
levels of production:

Output Q) [0 {1 | 2| 3 |4 |5 |6 |7 |8 |9 ] 10

Capital (K){O | 2 | 4| 6 | 8 10} 12 ] 14| 16 | 18| 20

Labour (L) [0 | 5 | 9| 12| 15| 19| 24 | 30| 37 | 45| 54

(1) Assuring that the price of labour (P) is Rs. 5 per unit and price of

capital (P¥) is Rs. 10 per unit, compute and graph the TVC, MC and
AVC for the firm.

(i) Using the numbers here, explain the relationship between marginal
cost and average variable cost. (5+5)
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What do you understand by perfect competition? How does a firm achieve its
equilibrium in the short run and long run. ) (15)
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Write short notes on any two:
® Price ceiling and price floor.
(i) Cross price elasticity of demand.

(iii) Allocative Efficiency under perfect competition. (7%,7%)
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